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— ~ Let f(x)=l v -1 <x <2, zero elsewhere, be the p. d. f. of X. Find the distribution
3

function and the p. 4. f. of Y= X
-~
. ~ Let the random variable X have the p. d. f.

Y H

f{x)= e ? »(<x< oo zero elsewhere.

2
N2
Find the mean and variance of X.

— * Two different teaching procedures were used on two different groups of students,
FEach group contained 100 students of about the same ability. At the end of the
term, an evaluating team assigned a letter grade to each student. The results were

tabulated as follows.

Grade

Goup A B C D F Toul

I 15 25 32 1711 100
11 9 18 29 28 16 100

If we consider these data to be observations from twe independent
multinomial distributions with k=3, test, at the 5 per cent significance level, the
hypothesis that the two distributions are the same(and hence the (wo teaching

procedures are equally effective), 4’2 4,095 =9.49

PY -~ Let X, X,,...... X, denote a random sample from a normal distribution with

n
mean zero and variance 8, 0 < &< oo, Show that ZX 3/n, is an unbiased
]

estimator of & and has variance 26%/n

- Let X,,X,,X, denote arandom sample from the distribution having p. d. f.

fix)=e™, 0<x< oo, zero elsewhere, Show that
X ., X+,
XX, T X e X, 4 X,

are mutually stochastically independent.

C Y, =X+ X, X,
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Part II. (50%)
Pleasc answer the following queries regarding multiple regression analysis.

1. I am trying to find out why people enter Ph. D. program. [ have gathered
data from a sample of second-year Ph. D. students. Will these data enable
me to find answers to my question? (10%)

2. T an trying to estimate a pricing function for Taiwan stock market and I
suspect that the volatility of the index varies with the rate of interest. Do I
run a multiple regression using GNP (gross national product) and interest“ .
rate as explanafory variables? (10%) o

3. I am fitting a demand for cars function for a sample of 1000 families. T
obtain an R* of only 0.07 but the regression program indicates that the
F-statistic for the equation is very significant and so are the t-statistics, How
can this be? Is there a mistake in the program? (10%)

4. In the regression of Y on Xy, Xz, X;, should I leave one of them out? (10%)
Given data ont Y and X explain how you will estimate the parameters in the
equation of Y="/ (ax+8) by using the ordinary least squares method.

Specify the assumptions you make about the errors. (10%)




B3P R Z BT 4B A A

e R (MEE) | $=F % ) R

B 43 3047 (50% )
I.Ef@;%(ék‘mk)%ﬁé¢'éiﬁ%iﬁ)ﬁ%imﬁﬁﬁﬁ
%z%%(%%1&%%2%%?zﬁm@ﬁﬁui%%:
UuﬂXﬁszmx%+huaﬁ+%anJ
EF X' 8% (1=0) 24 & -
X;:%k(mﬂ)%mkzwﬁo
T RTHARKAL B AL ERBE 1 4m, =)
it — g
(1) E%ﬁﬁ%%%%iﬁzﬁ%'ﬁ%%lt"%%ﬁ%"zﬁ%ﬁ
%%&4i’%%22“%%ﬁ#"z$%ﬁ%%&6ii

(2) UX)=lnx .
(3) X FManpts A 10,000 7 -

ELEE A ES . F LY S Y XXX, (15 %)

2.ﬁgi—mﬁﬂﬁﬂﬁ%rm&ﬂﬁﬂk&&%%vﬁﬂn%kzrmm
GRS I AMOLEF X FETHA 150 $70 - 24 Apins
M%%iw%iﬁ:kéﬁﬂim%ﬁﬁm@%&%ﬁE%*Wﬁﬁiu
ﬁﬁﬁ%%%ﬂﬁﬁﬂ’@k%$W#ﬁ£%ﬁ'Wﬁ$ﬁﬂﬂm%iﬂ
%iwxﬁﬁiAﬁ-$EMWﬁé£%%ﬁiﬁﬂm%i°iﬁiﬁﬁ
m%i@%m'%iﬁﬁﬁ;Aﬁ-ﬂﬁﬁﬁlkwkﬁﬁz’ﬂxﬁm
l@ﬂE%’%ﬁi#iﬁ%ﬁ’%Wﬁﬂﬁo%i/ﬁ$°%ii$#
ﬁi%ﬁ’EEMW@mﬁﬁﬁﬁHm%k%ﬂﬂ°®%££%¥@%£
%i&&mJiﬁﬁiméﬁR%#ﬂIm%i%ﬂﬁ'%ﬁi‘iw‘
iﬁ%ﬁ%ﬁriﬁéJim—%’Wﬁ%Wﬁﬁdmoii%ﬂM=%%
%'%ﬂ%ﬁ?ﬁéiﬁk%ﬂﬁv@=ﬂﬂ@%ﬁ%mi$?ﬁ&ﬁ*
s R it T 18 B AT S Ak -

(1)ﬁ%ﬁz~éw&iﬁﬁﬁ~ﬁﬁu$ﬁ%%ﬁﬂﬁ%mﬁioi
AT RS R IEd - (5 ) |

(2)%m%%mﬁﬁ%ﬁﬁ%&i%%mﬁz~immiimeﬁﬂ




B KA =4 L R

$ 2H ¥ 2R

FE B (g

]
i AMBRSRELAEM? (5 2

(3) —nBORRELESL M43 42 (core solution ) AT (%
R BATIE Thcag ) (10 ) '

AR L EMER MBI A
(1) BREH (fixed price) .
(2) AAAom (costplus)
(3) #5 B oA & (sharing contract )

ﬁﬂ%ﬂ%ﬁﬁﬁzm@&%éﬁﬁﬁﬂmEXﬁﬁ%&%e%mm&&
ﬁﬁ&ﬁzm%@maxﬁﬁw%%T»ﬁiﬁﬁ%%ﬂ&%ﬁﬁ%ﬁ%
B 7 (15 %) '

2IBRREAE Sy RE A 2
J.*Q%%M@Mﬁﬂ#@%*ﬁéBLMﬁ%ﬁ'ﬁ%ﬁﬁm&@ﬁ’M%
ﬁ%@ﬁ&ﬂ&@$'%%Mﬁﬁﬁ%#ﬁﬁiﬁbﬁ$$’%ﬁwgmﬁ
FRUVRFHE - ( tES)
2. i.ﬁkﬁﬁ#fr@é‘;’%‘%f&é@i%f?ﬁi&.ﬁﬁ#} o (AS) |
ﬁ%&ﬁﬁ&i%@ﬂiﬁ@ﬁ%ﬁ#%%%%%ﬁ’%@@?ﬁ@mmﬁﬁ
/LRI D W RRER - (L)
3. Consider the following mode] of the economy
Y, =d, ~d,P, +d,M, dy.d(,d, >0 aggrepatedemand
Yi=pa+pIN! py>0,0<p, <1 production
W, =P =k, ~(1-p,)N? labordemand
Ny =n, +n,(W, -P7) laborsupply
N =N;
PE=(-2)P5, +AP 0<h <] expectations
Where Y\ =log real GDP, Pe=log of the price level, N =log of employment,
N7 =log of the quantity of labor supplied, W=log of the nominal wage,
P¢ =log of the expected price level, M=log of the money stock, The endagenous
variables are Y, P, N* W, NY, P M,is exogenous
(i) Derive the aggregate supply curve implied by the model ( + 4- )
(i) Determine whether money is neutral in this medel. Explain how your
answer depends on the model's parameters, (m)
(i) Determine whether the model s capable of predicting a .relalionship
between unemployment and inflation consistent with the Phillips curve.
(E45)
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(2590 ) 4. ATT Company announces, on March 3, to buy BDD Co. Present value of synergy (57%%) from this merger is

expecled to be $1200. Below are stock prices of two firms prior to the merger announcement. Assume no
information leakage prior to the announcement.

Number of shares Stock price {per share) on March 2
ATT ) 250 $20
BDD 100 $10

{1} Suppose that ATT offers 80 shares of ATT stock to acquire BDD. Is this a good deal to ATT shareholders ?
Why 7 What are the stock prices of ATT and BDD on March 4 7 Assume stock prices on March 4 reflect ali the
expected gains (or losses) related to this takeover. (2) Suppose ATT offers 70 shares of ATT stock plus $ 800 in cash

for all BDD shares. What are the stock prices of ATT and BDD on March 4 ? Is this a good deal to ATT
shareholders ? Why ?
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